November 6, 2019

Solve the following system of equations
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Investigation 5.4 - on sketchpad

Parallelogram Opposite Angles Conjecture the opp03|te angles of a

parallelogram are congruent / /

Parallelogram Consecutive Angles Conjecture the consecutlve
angles of a parallelogram are supplementary / /

Parallelogram Opposite Sides Conjecture the opp03|te S|des of a

parallelogram are coniruent / /

Parallelogram Diagonals Conjecture the d|agonals of a parallelogram
bisect each other A
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Given: Parallelogram ABCD / ’ /D
Prove: <B is congruentto <D > A

Parallelogram ABCD| Given
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